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QUESTION 1

A customer has acquired a company and must integrate all IT assets into a single data center. Each company uses
HPE SimpliVity as the hardware platform, but one uses HyperV and the other uses VMware as the hypervisor. What are
valid options for consolidating this environment? 

A. Redeploy all nodes into a single cluster running containers. 

B. Run and manage separate SimplVity clusters for each hypervisor. 

C. Combine all nodes into a single cluster, running both VMware and Hyper-V hypervisors. 

D. Utilize HPE OneView to convert VMs from Hyper-v to VMware. 

Correct Answer: C 

 

QUESTION 2

You are designing a solution for a data-intensive application running on a ProLiant DL380 Gen10 server, where
performance will be critical. Which tool should you use to validate that your design meets the workload requirements? 

A. HPE Server Memory Configurator 

B. HPE Storage Sizer 

C. HPE Solid-State Drive Selector Tool 

D. HPE InfoSight 

Correct Answer: C  

 

QUESTION 3

Which industry standard protocol is typically used to communicate with remote resources on mobile applications? 

A. NFS 

B. HTTP 

C. STP 

D. TRILL 

Correct Answer: D 

Explanation: http://ms15.voip.edu.tw/~sandra/paper/CwC.pdf 

 

QUESTION 4
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You need to architect a SQL Database consolidation solution, based on the HPE reference architecture for SQL 2017.
The customer is moving from Oracle on Linux and wants to stay on Linux and migrate to a lower-cost solution. Which
server should you recommend? 

A. HPE DL380 Gen10 running Red Hat Linux Server 

B. HPE DL560 Gen10 running Red Hat Linux Server 

C. HPE DL560 Gen10 running CentOS Linux Server 

D. HPE DL380 Gen10 running Microsoft Windows Server 2016 

Correct Answer: A 

Oracle customers who wish to stay on Linux and migrate to a lower cost solution. 

Reference: https://www.suse.com/media/white-paper/HPE_Reference_Architecture_MS_SQL_Server_2017_on_Linux_
with_HPE_Scalable_Persistent_Memory_on_HPE%20ProLiant_DL380_Gen10.pdf 

 

QUESTION 5

What must you do when using the HPE FlexFabric 5945 4-slot Switch as a ToR switch in a solution? 

A. Add an Intelligent Resilient Framework license. 

B. Select power supplies with adequate reserve PoE+ capacity. 

C. Specify a fan tray with the appropriate direction of airflow. 

D. Add a Network Analytics Engine license. 

Correct Answer: D 

Reference: https://support.hpe.com/hpesc/public/docDisplay?docLocale=en_USanddocId=emr_na-a00053252en_us 
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